A/60/PV.19

O*128# (= 74; 2,(<Wt#2*04 —$"5*"5%0"&(
(9+4+/# , T+%(96#:13#): 8,19$3 367B7 5",-734$B6)-
,43) 8&U&34"C &HT3A SN ./ -,6 & =, A-CU$"T-%THT
374"C-%&9,34B$ Q, 1 7>"'$489,3>71 I,35C*6&>& K7%-
#7 J#7 D",B73/7-84,6;34BC #-%C 1$1:7%C 1$:$"$%&
V$1).

L E%+U<UA % ( (Q,17>"$489,358) 1,3-
5C*6&>$ KTUHT) (9+4+/# , T+-"*/%($><13#): Q6) :,%)
7H"7-%7, C-7B76;34B&, 5"8&37,-&%&4;3) > :7&:
5", -L,34B,%%&>$: %S$ EA71 4"&*Ch, & 57°-"$B&4; #-
%$ G%$ HE&S$337%S$ 3 &"*"$%&, = %$ 5734 D™,-3,-$4,-
6) L,34&-,3)471

36



A/60/PV.19

(&B&6&"$(&&, 73%7BS%% -/ %$ 5"&%(&5, 3B7*7-. &
-, I 7>"$488.

0,6%4,6;%7, "$3L&",%&, 87B,4$ V, 75$3%7-
34& B 47: B&-,, B >747"7: T%7 5",-C3:74",%7, 5",--
34$B6),43) >"$1%, BSA%.: 4", *7B%&,: 3 479>&
L08&) -, 7>"$4&&. [ /74) TWT %, T*/T-8&27, T-%T#7

T %,-734%3479%7 -6) 37#6$37B$N%74#7 & EEEFARBYRS@QYDITT11T211707928T21T57B505558 DTT6

37



A/60/PV.19

EA7 *C-,4 34784 ; >T%#76,"3>& - B77"CA,%% . = 3&6%:,
>747" . - 5"&-,43) 73C@,34B6)4; "$*7""CA,%&, .

Q, :7>"$4&9,3>%) 1,35C*6&>% K7%#7 5"&"%S$-
4,6;%$ 87B,4C V,"75%3%734& *$ 47, 947 T% 7-7*"&6
5"&:z,%,%&, UTTOQIK :," %$ 73%7B, #6$B. VII
P34$B$ 1U#E%&"$(&E& ¥*+,-&%,%% ./ O$(&1, 947
CB,%9%$673; >7%>",4%.:& '","C6;4$4%:& B [4C"&.
T-%$>7 5"&:-,%,%&, #6$B. VII B -"C#&/ "$17%$/, O
B 9$34%734&, B 8,B,"%71 & \NA%71 K&BC, O %, &:,-
67 57>% 7TA&-$, - 7#7 3-,"A&B$<@,#7 EFF,>4$. D7-
E47:C %, 57"$ 6& 87B,4C V,"75%3%734& 57-C-%$4; 7
47z, >$>C< 57:7@; 36,-C,4 7>%$"$4; ?77"CA,%%. :
3&6%: Q,-7>"$48&9,3>71 1,35C*6&>& K7%#7? J34,34-
B,%%7, C35,/ 4$>71 75,"$(&& *C-,4 4$>A, "$B&3,4;
74 ", L&:-734& Q, -7>"%$48&9,3>71 1,35C*6&>& KT7%#7
& UNI10QIK &, #6%$B%7,, 74 &3>",%%,1 5"&B,"A,%-
%734& %W$L&/ 373,-,1. 1%& -76A%. B7'-,"A&B$4;3)
74 >$>THT-6&*7 %, #3$4&BUTH#7 B: ,L$4,6;34B$, >747"7,
STHET * . 57:,L.$4; C3&68&) -, %$5""$B6,%% - - %$ %,1-
4"$6&"$(&< *7,B&>7B & -"C#&/ B77"CA,%% ./ #"C5-
5&"7B7>.

K"7:, ",L,%&) 5"7*6,: B 7*6$34& *,"75%$3%7-
34& & 3C#C*7 576&4&9,3>&/ B75"737B - . -7T6A%.
4$>A, C-7B6,4B7")4; "$>7%%., 574" ,*%734& 6<-,1,
STA7" ., %$ 5"74)A,%&& -%7#&/ 6,4 *_6& 6&L ,%.
B7'-7A%734& C-7B6,4B7'")4; 3B7& E6, - ,%4$"% ., 57

38



A/60/PV.19

D,",- 6&(7z %7B./ C#'7" ) /74,6 *_ 57-4B,"-
-&4; 5"&B,"A,%%734; Q, :7>"$48&9,3>71 1,35C*6&>&
K7%#7 5"&%(&5%:, %$ >747" ./ *$°&"C,43) %$L$ >76-
6,>4&B%S) *,"75%$3%734;.

39





